SIZE OPTIMIZATION ALGORITHM OF HYBRID WIND-PV SYSTEMS

< Start Searching The Solution Space )

/

Determine the battery Capacity=BC

v

Increase #PV or #Wind Turbine

#Pv or
#Wt > #Limit

Sytem and Stop

Find Min Cost Opimum

»
>

l t=t+1 I

Calculate the Generations from
Renewable Sources = TG

BS +TG-C<
BMin

K=K+1

BS=TG-C at that t

t=8760

Calculate LLP

Calculate Total Cost of YES
Configuration and Save

BS: Battery Status at time t

LLP: Loss of Load Probability = K/8760

LLPp: Desired LLP

C: Consumption

TG: Total Generation at time t
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